
Klein 
Answer Section  

 
MULTIPLE CHOICE  

 
 1. ANS: D PTS: 1 DIF: 1 REF: C-13,14 

OBJ: 2a  

 

 2. ANS: C PTS: 1 DIF: 2 REF: C-2 
OBJ: a  

 

 3. ANS: A PTS: 1 REF: C-100, pg 18   

 

 4. ANS: B PTS: 1 DIF: 1 REF: C-20 
OBJ: 2g 

 

 5. ANS: D PTS: 1 REF: C-49  

 

 6. ANS: A PTS: 1 DIF: 1 REF: C-26 
OBJ: 2l 

 

 7. ANS: A 
c-99, pg 14 

 
PTS: 1 

 

 8. ANS: A PTS: 1 REF: C-25  

 

 9. ANS: D 
B-35 

 
PTS: 1 

 

 10. ANS: D PTS: 1 REF: C-45  

 

 11. ANS: A PTS: 1 REF: C-49  

 

 12. ANS: B PTS: 1 DIF: 1 REF: C-66,67 
OBJ: e  

 

 13. ANS: C PTS: 1 DIF: 1 REF: C-26 
OBJ: 2l 

 

 14. ANS: D PTS: 1 REF: C-51  

 

 15. ANS: B 
C-144 

 
PTS: 1 

 

 16. ANS: C PTS: 1 DIF: 1 REF: C-65 
OBJ: d 

 

 17. ANS: B PTS: 1 REF: C-59  

 

 18. ANS: A PTS: 1 REF: C-100, pg 21   

 

 19. ANS: A PTS: 1 REF: C-123  

 

 20. ANS: B PTS: 1 REF: C-100, pg 54   

 

 21. ANS: C 
C-101, pg 8 

 
PTS: 1 

 

 22. ANS: C PTS: 1 DIF: 1 REF: C-3 
OBJ: b 

 

 23. ANS: B PTS: 1 DIF: 1 REF: C-5 



OBJ: c  

 

 24. ANS: D PTS: 1 DIF: 2 REF: C-65 
OBJ: d 

 

 25. ANS: A PTS: 1 REF: C-66  

 

 26. ANS: C 
(# fertile eggs / total eggs set)  x  100 = answer  

 
PTS: 1 

 

 27. ANS: B 
(# eggs hatched / # fertile eggs)  x  100 = answer  

 
PTS: 1 

 

 28. ANS: A 
# eggs hatched  x  ave live bird wt  =  answer  

 
PTS: 1 

 

 29. ANS: C 
HARD 
# chicks hatched  x  average live wt  =  total bird wt 
total lbs feed  /  total bird wt  =  answer 

 
PTS: 1 

 

 30. ANS: D 
total lbs feed consumed  /  total # birds processed  =  answer  

 
PTS: 1 


